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Τ   Α   Υ   Τ   Ο   Τ   Η   Τ   Ε   Σ 
 

1. (α + β) 2 = α 2 + 2αβ + β 2     
     α 2 + β 2 = (α + β ) 2 – 2αβ 
 
2. (α - β) 2 = α 2 - 2αβ + β 2     
     α 2 + β 2 = (α - β ) 2 + 2αβ 
 
3. α 2 – β 2 = (α – β ) (α + β ) 
 
4. (α + β + γ ) 2 = α 2 + β 2 + γ 2 + 2αβ + 2βγ + 2γα 
 
5. (α + β ) 3 = α 3 + 3α 2β + 3αβ 2 + β 3   
     α 3 + β 3 = (α + β ) 3 –3αβ (α + β) 
 
6.  (α – β ) 3 = α 3 - 3α 2β + 3αβ 2 – β 3   
     α 3 – β 3 = (α - β ) 3 +3αβ (α – β) 
 
7. α 3 + β 3 = (α + β) (α 2 – αβ + β 2 ) 
 
8. α 3 – β 3 = (α - β) (α 2 + αβ + β 2 ) 
 
9. (α + β) 4 = α 4 + 4α 3β +6α 2β 2 +4αβ 3 + β 4 
 
10. (α –β) 5 = α 5 –5 α4β + 10α 3β 2 – 10α 2β 3 + 5αβ 4 – β 5 
 
10. α 3 + β 3 + γ 3 - 3αβγ = (α + β + γ)(α 2 + β 2 + γ 2 –αβ – βγ – γα) 
                                       =

2
1 (α + β + γ)[(α – β)2 + (β – γ)2 + (γ – α)2] 

     Αν : α + β + γ = 0  ή  α = β = γ  τότε   α 3 + β 3 + γ 3 - 3αβγ = 0 
 
11. α ν + β ν = (α + β)(α ν-1 – αν-2β +α ν-3β2 - …- αβ ν-2 +β ν-1),  ν περιττός                   
                  ∆εν παραγοντοποιείται  αν  ν άρτιος 
 
12. α ν – β ν = (α – β)(α ν-1 + αν-2β +α ν-3β2 + …+ αβ ν-2 +β ν-1), ν περιττός 
 
                      = (α – β)(α ν-1 + αν-2β +α ν-3β2 + …+ αβ ν-2 +β ν-1), ν άρτιος 
                      
                     = (α + β)(α ν-1 – αν-2β +α ν-3β2 -  …+ αβ ν-2 - β ν-1),  ν άρτιος 
 
13. (α1

2 + α2
2)(β1

2
 + β2

2) – (α1β1 + α2β2)2 = (α1β2 – α2β1)2 


